

משפט 5.4.1

בהינתן $n_1 < n_2 < \dots$ ו- $f_{n_k} \rightarrow f$ ב- μ

$$\mu \left(\left\{ |f_{n_k} - f_m| > \frac{1}{2} \right\} \right) < \frac{1}{2}$$

⋮

בהינתן $n_k < n_{k+1}$ ו- $f_{n_k} \rightarrow f$ ב- μ

$$\mu \left(\left\{ |f_{n_k} - f_m| > \frac{1}{2^k} \right\} \right) < \frac{1}{2^k}$$

$$E_k := \left\{ |f_{n_k} - f_{n_{k+1}}| > \frac{1}{2^k} \right\} \quad \text{ב-} \mu$$

$$\mu(E_k) < \frac{1}{2^k} \quad \text{לפי משפט 5.4.1}$$

$$\sum_{k=1}^{\infty} \mu(E_k) < \infty \quad \text{לפי 5.4.1}$$

לפי

$$E := \bigcap_{n \in \mathbb{N}} \bigcup_{k \geq n} E_k \quad (= \limsup E_k)$$

$$\mu(E) = 0 \quad \text{לפי 5.4.1}$$

בהינתן $x \in E^c$ ו- $j > k_0$ אז $x \notin E_j$ ו- $x \notin E_k$ לכל $k > j$

לכן $|f_{n_j}(x) - f_{n_k}(x)| \leq |f_{n_j}(x) - f_{n_{j-1}}(x)| + \dots + |f_{n_k}(x) - f_{n_{k-1}}(x)|$

$$\leq \frac{1}{2^{j-1}} + \dots + \frac{1}{2^k} \leq \frac{1}{2^{k-1}}$$

לכן $f_{n_k}(x) \rightarrow f(x)$ ו- $x \notin E$

לפי משפט 5.4.1 (משפט 5.4.1) $\mu(E) = 0$

לפי משפט 5.4.1 (משפט 5.4.1) $\mu(E) = 0$ ו- $f_{n_k} \rightarrow f$ ב- μ

$$\mu \left(\left\{ |f_{n_k} - f| > \varepsilon \right\} \right) \rightarrow 0$$

100

$$|f_n(x) - f(x)| \leq |f_n(x) - f_{n_k}(x)| + |f_{n_k}(x) - f(x)|$$

$$\mu(\{|f_n - f| > \epsilon\}) \leq \mu(\{|f_{n_k} - f| > \epsilon\}) \rightarrow 0$$

לכן $f_n \xrightarrow{\mu} f$ לפי

על פני 1

המשפט ϕ של מילר (משפט מילר) (משפט מילר) ϕ של מילר

הוא, כל f של מילר ϕ של מילר ϕ של מילר

$I = [0, 1]$ ϕ של מילר

כלומר $\int_I f dm < \infty$ כיון $m([0, 1]) = 1 < \infty$

$$\int_I f(x) dm(x) = \int_I \sum_{n=1}^{\infty} \frac{\phi(nx)}{n^2} dm(x)$$

$\forall k :$ $\sum_{n=1}^k \frac{\phi(nx)}{n^2} \leq \sum_{n=1}^k \frac{|\phi(nx)|}{n^2} \leq g_k \leq \sum_{n=1}^{\infty} \frac{|\phi(nx)|}{n^2}$

$$\int_I f(x) dm(x) = \sum_{n=1}^{\infty} \int_I \frac{\phi(nx)}{n^2} dm(x) = \sum_{n=1}^{\infty} \int_{[0, 1/n]} \frac{\phi(x)}{n^3} dm(x)$$

$$= \sum_{n=1}^{\infty} \int_I \frac{\phi(x)}{n^2} dm(x) < \infty$$